
  

 

 

B.Com. DEGREE EXAMINATION –  

JUNE, 2010. 

Third Year 

Accounting and Finance 

COST ACCOUNTING 

Time : 3 hours Maximum  marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

Answer should not exceed 2 pages. 

1. Write any five differences between financial 

accounting and cost accounting. 

 {v{ø» PnUQ¯¾US®, AhUPÂø» 
PnUQ¯¾US® EÒÍ H÷uÝ® I¢x Âzv¯õ\[PøÍ 
GÊxP. 

2. Calculate EOQ from the following particulars : 
Annual usage 60000 units 

Cost of material per unit Rs. 200 

Cost of placing and receiving one order Rs. 600 

 Annual carrying cost of one unit is 10% of the 

inventory value. 
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 RÌPsh uPÁÀPÎ¼¸¢x ]UPÚ öPõÒ•uÀ AÍøÁ 
PnUQhÄ®. 

J¸ BsiØUPõÚ ÷uøÁ 60000 A»SPÒ 

J¸ A»S Pa\õ¨ ö£õ¸Îß AhUPÂø» ¹. 200 
J¸ Bøn ¤Ø¤UPÄ®/ö£Öu¾US® BS® ö\»Ä ¹. 600 

 BsiØS J¸ A»SUPõÚ £µõ©›¨¦ ö\»Ä Auß 
\µUS ©v¨¤À 10%. 

3. What are the causes for labour turnover? 

 öuõÈ»õÍºPÒ `ÇØ]UPõÚ Põµn[PÒ ¯õøÁ? 

4. The profit as per costing records was Rs. 15,000. 

Find the profit as per the financial records on the 

basis of the following : 

 (a) The works overheads were under recovered 

in the cost accounts by Rs. 620  

 (b) The Administration expenses were under 

recovered in the financial accounts by  

Rs. 275 

 (c) Depreciation over recovered in the cost 

accounts by Rs. 190 

 (d) Interest  on investments Rs. 100 recorded in 

financial books only.  

  AhUPÂø» PnUQ¯¼À Põs¤zu C»õ£®  
¹. 15,000. RÌPsh uPÁÀPÎ¼¸¢x {v {ø» 
PnUQ¯¼À Põmh¨£mh C»õ£® GÆÁÍÄ GÚ 
Psk¤iUPÄ®. 
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 (A) öuõÈØTha ö\»ÄPÒ AhUPÂø» 
PnUQ¯¼À ¹. 620 SøÓÁõP £vÄ 
ö\´¯¨£mhÒÍx 

 (B) {v{ø» PnUQ¯¼À {ºÁõPa ö\»ÄPÒ  
¹. 275 SøÓÁõP £vÄ ö\´¯¨£mkÒÍx 

 (C) AhUPÂø» PnUQ¯¼À  ÷u´©õÚ® ¹. 190 
AvP©õP £vÄ ö\´¯¨£mkÒÍx 

 (D) •u½kPÎß «x ö£ØÓ Ámi ¹. 100 {v{ø» 
PnUQ¯À HkPÎÀ ©mk® £vÄ 
ö\´¯¨£mkÒÍx. 

5. Write short notes on : 

 (a) FIFO 

 (b) F.W. Taylor’s wage plan. 

 ]Ö SÔ¨¦ ÁøµP. 

 (A) •u¼À EÒ÷Í/•u¼À öÁÎ÷¯ 

 (B) F.W. öh´»›ß T¼ vmh®. 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

Answer should not exceed 5 pages. 

6. Explain the merits and demerits of centralised 

purchasing. 

 ø©¯ öPõÒ•uÀ •øÓ°ß |ßø©PøÍ²® ©ØÖ® 
SøÓ£õkPøÍ ÂÍUSP. 
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7. What is overhead? What are the bases adopted in 

apportioning different overheads? 

 ÷©Øö\»Ä GßÓõÀ GßÚ? G¢u Ai¨£øh°À 
£»ÁøP ÷©Øö\»ÄPÒ ¤›UP¨£kQßÓÚ? 

8. Vicky furnishes the following data and you are 

required to compute the cost per running 

kilometre 
 Rs. 

Cost of vehicle 2,50,000

Road Licence per year 7,500

Annual salary 18,000

Driver’s wage per hour 40

Cost of fuel per litre 15

Repairs and maintenance cost per kilometre 15

Tyre cost per kilometre 10

Garage rent per year 16,000

Annual insurance premium 8,500

Kms run per litre 6

Kms  run during the year 15,000

Estimated life of vehicle 100000 (km)

 Charge interest @ 10% p.a on the cost of the 

vehicle. The vehicle runs 20 kms on an average 

per hour. 

 ÂUQ RÌPsh uPÁÀPøÍz u¸QÓõº. J¸ Q÷»õ 
«mhº Ási JkÁuØS BS® ö\»øÁ  
PnUQk®£i ÷ÁskQÓõº 

  ¹.   

Ási°ß AhUPÂø»  2,50,000
J¸ Á¸hzvØS \õø» Á›  7,500
J¸ Á¸hzvØS Fv¯®  18,000
Jmk|›ß J¸ ©o ÷|µ Fv¯®  40
J¸ ¼mhº G›ö£õ¸Îß Âø»  15
£Êx£õºzuÀ ©ØÖ® £µõ©›¨¦ J¸ Q÷»õ «mh¸US  15
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Ási \UPµzvß £µõ©›¨¦ J¸ Q÷»õ «mh¸US  10
£o©øÚ°ß J¸ Á¸h ÁõhøP  16,000
ÁsiUS Põ¨¥k Pmhn® J¸ Á¸hzvØS  8,500
J¸ ¼mhº G›ö£õ¸ÎÀ Ási Jk® yµ®  6 Q÷»õ «mhºPÒ
|h¨¦ BsiÀ Ási Ki¯ yµ®  15,000 Q÷»õ «mhºPÒ

B¯mPõ» (Ási) JmhÍÄ  100000 Q÷»õ «mhºPÒ

 Ási Âø»°ß «x 10% Ámi PnUQhÄ®. J¸ 
©o ÷|µzvÀ Ási°ß \µõ\› Jmh® 20 Q÷»õ 
«mhºPÒ. 

9. A contractor obtained a contract for Rs. 60,00,000 

on 01.04.09. The expenses incurred during the 

year ending 31.3.2010 were as follows : 

 Rs. 

Materials 18,00,000 

Wages paid 16,00,000 

Wages accrued 1,00,000 

Other expenses 2,50,000 

Plant installed 4,50,000 

 Materials at site on 31.3.10 were Rs. 2,40,000. 

Depreciate plant by 20% p.a. The contractor 

received Rs. 36,00,000 in cash upto 31.3.10 being 

80% of the work certified. The work uncertified 

was Rs. 40,000. 

 Prepare Contract a/c showing the profit to  be 

taken to Profit and Loss a/c. 
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 J¸ J¨£¢uUPõµº ¹. 60,00,000 ©v¨¦øh¯ 

J¨£¢uøu 01--.04.09 À ö£ØÓõº. 31.3.10 À 

•iÁøh²® BsiØUPõÚ ö\»ÄPÒ ¤ßÁ¸©õÖ 

 ¹. 
ö£õ¸ÒPÒ 18,00,000 
T¼ öPõkzux 16,00,000 
T¼ ({¾øÁ) 1,00,000 
©ØÓa ö\»ÄPÒ 2,50,000 
C¯¢vµ \õuÚ® 4,50,000 

 31–3-–10 À ÷Áø» ö\´²® ChzvÀ C¸¢u 
ö£õ¸ÒPÒ ¹. 2,40,000. C¯¢vµ \õuÚzvØS 20% 
÷u´©õÚ® PnUQhÄ®. J¨£¢uUPõµº 31.3.10 •i¯  
¹. 36,00,000 ö£ØÖU öPõskÒÍõº, Cx AÁº 
•izu ÷Áø»°À 80% ©v¨£õS®. \õßÔuÌ ö£Óõu 
£o°ß ©v¨¦ ¹. 40,000. 

 J¨£¢u PnUøP u¯õ›zx C»õ£ |mh PnUQØS 
Gkzx ö\À» ÷Ási¯ C»õ£zøu PnUQkP. 

10. Rupa & Co provides the following information : 
 Rs. 

Total fixed cost 18,00,000 

Total variable cost 30,00,000 

Total sales 60,00,000 

  No of units sold 20,000 

 Find out 

 (a) Contribution per unit 

 (b) B.E.P 

 (c) Margin of safety. 



 UG–635 7

 ¹£õ & ÷Põ u¸® uPÁÀPÒ ¤ßÁ¸©õÖ 

 ¹. 
ö©õzu {ø»a ö\»ÄPÒ 18,00,000 

ö©õzu ©õÖ® ö\»ÄPÒ 30,00,000 

ö©õzu ÂØ£øÚ 60,00,000 

 ÂØ£øÚ ö\´u A»SPÒ 20,000. 

 Psk¤i 

 (A) J¸ A»Qß £[PÎ¨¦ 

 (B) C»õ£/|mh ©ØÓ ¦ÒÎ 

 (C) £õxPõ¨£õÚ ÂØ£øÚ AÍÄ. 

11. A & Co uses Job costing. Prepare cost sheet. 

 Rs. 

Direct material 18,000 

Direct wages 15,000 

Profit 12,180 

Selling overhead 10,500 

Administration overhead 8,400 

Factory overhead 9,000 

 The company received a job order which requires 

material for Rs. 24,000 and wages to be incurred 

was Rs. 15,000. 

 What is the price to be quoted to this job? 



 UG–635 8

 A & ÷PõÂß £o AhUPÂø» •øÓ°À 

AhUPÂø» £mi¯À u¯õ›UPÄ®.  

 ¹. 
÷|›øh ö£õ¸ÒPÒ 18,000 

÷|›øh T¼ 15,000 

C»õ£® 12,180 

ÂØ£øÚ ÷©Øö\»ÄPÒ 10,500 

{ºÁõP ÷©Øö\»ÄPÒ 8,400 

öuõÈØTh ÷©Øö\»ÄPÒ 9,000 

 C¢{Ö©® J¸ £o ö\´¯ JzxUöPõshx. 
A¨£oø¯ •iUP ÷uøÁ¨£k® ‰»¨ ö£õ¸ÒPÎß 
©v¨¦ ¹. 24,000  ©ØÖ® uµ¨£h ÷Ási¯ T¼  
¹. 15,000. 

 A¨£oø¯ •iUP ÷Põµ¨£h ÷Ási¯ öuõøPø¯ 
PnUQhÄ®. 

12. What are incentive wage plans? Briefly explain 

Halsey, Rowan and Merrick’s wage plans. 

 FUSÂUS® T¼ vmh[PÒ GßÓõÀ GßÚ? íõÀ], 
÷µõÁß ©ØÖ® ö©º›U BQ÷¯õ›ß FUSÂUS® 
vmh[PøÍ¨ £ØÔ _¸UP©õP ÂÍUPÄ®. 

———————– 


